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FBQ Nigeria is still struggling to
create infrastuctural 
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Differently 1
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various products to the 

Tourists 1
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FBQ Different authority/scholars
define tourism as an
industry 

Differently 1

FBQ A tourist not only travels but
also stays 

Somewhere 1

FBQ Third world destinations are
seen as destination 

Only 1

FBQ The social impact of
tourism is equally 

Flexible 1

FBQ The future of tourism is Bright 1

FBQ The boundaries of tourism
are extremely 

Flexible 1

FBQ Different authority/scholars
define tourism as an
industry 

Differently 1

FBQ Handicrafts and sounenir
industry today are totally
dependent on tourists for
their 

Sales 1

FBQ The measurement of
tourism phenomeon poses 

Problems 1

FBQ World Tourism Organization
was founded in 

1976

FBQ Standard deviation is the
square root of 

Varaiance 1
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FBQ There are kinds of visa
available to foreign 

Nationals 1

FBQ WTO works towards of
removal of tourism 

Barriers 1

FBQ WTO is anon governmental Body 1

FBQ Different authority/scholars
define tourism as an
industry 

Differently 1

FBQ Standard deviation is the
square root of 

Varaiance 1

FBQ IATA is a non governmental
air 

Carrier 1

FBQ There are kinds of visa
available to foreign 

Nationals 1

FBQ Different authority/scholars
define tourism as an
industry 

Differently 1

FBQ WTO is anon governmental Body 1

FBQ There are kinds of visa
available to foreign 

Nationals 1

FBQ IATA is anon governmental
air 

Carrier 1

FBQ WTO works towards the
removal of tourism 

Barriers 1
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FBQ Over the years a number of
organizations have
emerged in

Tourism 1

FBQ Handicrafts and sounenir
industry today are totally
dependent on tourists for
their 

Sales 1

FBQ Shops and emporiuns sell
various products to the 

Tourists 1

FBQ Many state govts operate
emporiuns in their 

States 1

FBQ World Tourism Organization
was founded in 

1976

FBQ The intermediaries
consistute the travel
agency, tour operators and 

Guide
srevices

1

FBQ A tourist not only travels but
also stays 

Somewhere 1

FBQ The social impact of
tourism is equally 

Complex 1

FBQ The future of tourism is Bright 1

FBQ Tourism system has a four
tier 

Framework 1

FBQ Tourism system must
estimate the carrying 

Capacity 1
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FBQ The measurement of
tourism phenomeon poses 

Problems 1

FBQ The boundaries of tourism
are extremely

Flexible 1

FBQ Third world destinations are
seen as destination 

Only 1

FBQ Tourism system must
estimate the carrying 

Capacity 1

FBQ The future of tourism is Bright 1

FBQ Today golf tourism is a
prime draw for the world's
highest spending 

Travellers 1

FBQ The tourism system
influences governments,
industry 

Business TRUE

FBQ Tourism system must
estimate the carrying 

Capacity TRUE

FBQ The measurement of
tourism phenomeon poses 

Problems TRUE

FBQ Third world destinations are
seen as destination 

Only TRUE

FBQ The boundaries of tourism
are extremely flexible 

Flexible TRUE

FBQ Tourism system must
estimate the carrying 

Capacity TRUE
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FBQ WTO is anon governmental Body TRUE

FBQ The measurement of
tourism phenomeon poses 

Problems TRUE

FBQ The basic measure of
volume is tourist 

Arrivals TRUE

FBQ Standard deviation is the
square root of 

Varaiance TRUE

FBQ Tourism is a social Phenomeon TRUE

MCQ Investment in tourism is
always based on perception
of return on investment and
payback periods

TRUE TRUE Half
true

Indifferent A

MCQ An average is the most
representative value of a
sample unit

TRUE TRUE Half
true

Indifferent A

MCQ IATA is a non governmental
carrier

TRUE TRUE Half
true

Indifferent A

MCQ Different authority/scholars
define tourism as an
industry

TRUE TRUE Half
true

Indifferent A

MCQ Diplomatic visa is issued to
head of mission without
charge

TRUE TRUE Half
true

Indifferent A

MCQ There different types of visa
for entry into Nigeria

TRUE TRUE Half
true

Indifferent A

MCQ Statistics is a useful tool for
the measurement of any
qualtative phenomeon

FALSE FALSE Half
false

Indifferent B

MCQ The value of tourism to an
economy is mainly reflected
in tourist expenditure at
destination

TRUE TRUE Half
true

Indifferent A
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MCQ The second main volume
statistics is the average
length of stay

TRUE TRUE Half
true

Indifferent A

MCQ Tourism is a social
phenomeon with significant
economic consequences

TRUE TRUE Half
true

Indifferent A

MCQ Shops and emporiuns sell
various products to tourists

TRUE TRUE Half
true

Indifferent A

MCQ Tourism is a social
phenomeon with significant
economic consequences

TRUE TRUE Half
true

Indifferent A

MCQ The basic measurement of
volume is tourist arrivals

TRUE TRUE Half
true

Indifferent A

MCQ The volume of tourism to an
economy is mainly reflected
in the tourist expenditure at
destinations

TRUE TRUE Half
true

Indifferent A

MCQ Investment in tourism is
always based on perception
of return on investment and
payback periods

TRUE TRUE Hhalf
true

Indifferent A

MCQ The measure of tourism
phenomeon poses several
problems

TRUE TRUE Half
true

Indifferent A

MCQ The boundaries of tourism
are extremely flexible

TRUE TRUE Half
true

Indifferent A

MCQ Tourism system operates
with a global economic
environment

TRUE TRUE Half
true

Indifferent A

MCQ Tourism destinations should
promote , re-orient the
business cycle

TRUE TRUE Half
true

Indifferent A

MCQ Third world countries do not
estimate leakages on the
tourism account correctlt

TRUE TRUE Half
true

Indifferent A

MCQ The social impact of
tourism is equally complex

TRUE TRUE Half
true

Indifferent A
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MCQ The tourism of today is the
outcome of the combinee
efforts of its various
consistuents

TRUE TRUE Half
true

Indifferent A

MCQ Today's tourism is a mix of
the output and services

TRUE TRUE Half
true

Indifferent A

MCQ Nigeria is still struggling to
create infrastructural
facilities in tourism

TRUE TRUE Half
true

Indifferent A

MCQ Today the travel industry is
a highly developed
industries with various
branches

TRUE TRUE Half
true

Indifferent A

MCQ A tourist not only travels but
also stays somewhere

TRUE TRUE Half
true

Indifferent A

MCQ The intermediaries
consistute the travel
agency, tour operators and
tour guide

TRUE TRUE Half
true

Indifferent A

MCQ Different forms of
entertainments are
provided as attractions at
the destinations

TRUE TRUE Half
true

Indifferent A

MCQ The consistuuents of
tourism industry are varied

TRUE TRUE Half
true

Indifferent A

MCQ The social impact of
tourism is equally complex

TRUE TRUE Half
true

Indifferent A

MCQ Management contracts and
franchises are on the
increase so leaksges are
likely to be greater

TRUE TRUE Half
true

Indifferent A

MCQ The basic measurement of
volume is tourist arrivals

TRUE TRUE Half
true

Indifferent A

MCQ The value of tourism to an
economy is mainly reflected
in tourist expenditure at
destination

TRUE TRUE Half
true

Indifferent A

MCQ Tourism system must
estimate the carrying
capacity

TRUE TRUE Half
true

Indifferent A
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MCQ Tourism system operates
with a global economic
environment

TRUE TRUE Half
true

Indifferent A

MCQ IATA is a non governmental
carrier

TRUE TRUE Half
true

Indifferent A

MCQ Today's golf tourism is a
prime draw for the world's
highest spending travellers

TRUE TRUE Half
true

Indifferent A

MCQ WTO is an
intergovernmental body

TRUE TRUE Half
true

Indifferent A

MCQ The measure of tourism
phenomeon poses several
problems

TRUE TRUE Halt
true

Indifferent A

MCQ Tourism system must
estimate the carrying
capacity

TRUE TRUE Half
true

Indifferent A

MCQ Third world countries do not
estimate leakages on the
tourism account correctlt

TRUE TRUE Half
true

Indifferent A

MCQ The social impact of
tourism is equally complex

TRUE TRUE Half
true

Indifferent A

MCQ The travel agency has
specialized departments

TRUE TRUE Half
true

Indifferent A

MCQ WTO works towards the
removal tourism barriers

TRUE TRUE Half
true

Indifferent A

MCQ International Union of
Official travel organization
existed from 1947-1985

FALSE FALSE Half
false

Indifferent B

MCQ Many state governments
have opened the emporiuns
in their states

TRUE TRUE Half
true

Indifferent A

MCQ Insurance companies offer
short term safety or
accident policies to tourists

TRUE TRUE Half
true

Indifferent A

MCQ Shops and emporiuns sell
various products to tourists

TRUE TRUE Half
true

Indifferent A
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MCQ Handicrafts and souvenirs
industry today are totally
dependent on tourism for
their sales

TRUE TRUE Half
true

Indifferent A

MCQ Over the years a lot of
organizations have
emerged in travels

FALSE FALSE Half
false

Indifferent B

MCQ World Tourism Organization
was founded in 1985

FALSE FALSE Half
false

Indifferent B

MCQ Internal Air Transport
Association is anon
governmental carrier

TRUE TRUE Half
true

Indifferent A

MCQ There are many types of
visa available to foreign
tourists

TRUE TRUE Half
true

Indifferent A

MCQ Today's golf tourism is a
prime draw for the world's
highest spending travellers

TRUE TRUE Half
true

Indifferent A

MCQ Third world destinations are
seen as destinations only

TRUE TRUE Half
true

Indifferent A

MCQ The future of tourism is
bright

TRUE TRUE Half
true

Indifferent A

MCQ The measure of tourism
phenomeon poses several
problems

TRUE TRUE Half
true

Indifferent A

MCQ Diplomatic visa is issued to
head of mission without
charge

TRUE TRUE Half
true

Indifferent A

MCQ IATA is a non governmental
carrier

TRUE TRUE Half
true

Indifferent A

MCQ WTO is an
intergovernmental body

TRUE TRUE Half
true

Indifferent A
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